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Q- Fill in the blanks: (2 x 5 = 10)

(a) Hibiscus is a

(b) Dogisa_ animal.
(c) Zebraisa_ animal.
(d) Rabbitisa_____ animal.
(e) Catisa __animal.

Q- True or False: (2x5=10)

(a) Labrador is a cat.

(b) Labrador is a guide dog.

(c) Elephant is a wild animal.

(d) The animals that are kept in jungle are called wild animals.

(e) The animals that are kept at home are known as pets.

Q- One word answer: (2 x5 = 10)
(a) Where does a bee live?
(b) Where does a bird live?
(c) Where does a lion live?

(d) Where does a dog live?




(e) Where does an ant live?

Q- True or False: (2x3 =6)
(a) The construction of Taj Mahal took 22 years.
(b) Indira Gandhi was the first Indian woman prime minister.

(c) Laxmi Bai was the first Indian woman president of India.

Q- One word answer: (2x 4 = 8)

(a) This is called the festival of lights.
(b) This is called the festival of colours.
(c) This is called the festival of Sikhs.

(d) This is called the festival of Muslims.

Q- Fill in the blanks: (2 x5 = 10)

(a) Chail Cricket Ground isin ____

(b) _______isthe national tree of India.
(c) is the national bird of India.
(d)_____ isthe national flag of India.
(e) is the national flower of India.

Q- True or False: (2x2 = 4)
(a) The sound of musical instruments is very interesting to hear.

(b) We don't have fun on various occasions that we celebrate as festivals.

Q- Fill in the blanks: (2 x 3 = 6)

(a) Games are _ __for health.

(b) Games make our body

(c) Games helpus _______ well.



Q- One word answer: (2x 2 = 4)
(a) This is a disease that spreads worldwide.

(b) How many seasons are there in India?

Q- Fill in the blanks: (2 x5 = 10)
(a) There are _____ million city buses in operation worldwide.
(b) Traffic signals are meant for the safety of ____ users.

(c) This is the sign to

(d) This is the signof ___.

(e) Red, yellow and are the colours of traffic lights.

Q- True or False: (2x 5 =10)

(a) Modes of transport are used for transporting goods and people.
(b) Aeroplane is a mode of water transport.

(c) Ship is a mode of water transport.

(d) Helicopter is not a mode of transport.

(e) Car is a mode of road transport.

Q- One word answer: (2x 5 =10)
(a) It twinkles in the night sky.

(b) This gives you heat and light.
(c) It has seven bright colours.

(d) These bring rain.

(e) It rhymes with a spoon. We can see it at night.

Q- Fill in the blanks: (2 x 5 = 10)

(@) The is the brain of computer.



(b) CPU can a lot of information.

(c) There are sense organs in a human body.

(d) Skinis our _____ organ.

(e) We can see with

Q- True or False: (2x5=10)
(a) We smell with our nose.
(b) We hear with our nose.

(c) We taste with our tongue.
(d) The sun is a moon.

(e) Spacecraft can take us to the moon.

Q- Fill in the blanks: (2 x5 =10)

(a) We can call a collection of things in just word.

(b) A group of _ is called parliament.

(c) Apple begins with a letter.

(d) Deer begins witha_______letter.

(e) Cat begins with a ____letter.

Q- Trueor False: (2x5=10)

(a) Banana begins with a consonant.
(b) Ant begins with a vowel.

(c) Pig begins with a vowel.

(d) Laptop begins with a vowel.

(e) Table begins with a vowel.

Q- One word answer: (2x 4 = 8)



(a) We say this word when we want someone to do something for us.
(b) We say this word when we do anything wrong.

(c) We say this word when someone does something for us.

(d) Sorry, please and thank you are known as words.

Q- Fill in the blanks: (2x 2 = 4)
(a)

(b) Mahatma Gandhi was very

and sincere people are appreciated by others.

Q- True or False: (2x2 = 4)
(a) Swachh Bharat Abhiyan is a cleanliness campaign.

(b) Swachh Bharat Abhiyan is run by the government.

Q- Fill in the blanks: (2x 2 = 4)
(a) Socrates had a habit of raising _ :

(b) wanted to know the reason of every happening.

Q- True or False: (2x 1 = 2)

(a) Raising questions means you want to know more about the subject being
discussed.



